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~—  Neutralization Problems

Despite aim
was true, and his carefully measured aliquot
of hyvdrochloric acid found its mark deep in
the enemy's reservoir of sodium hydroxide.

McAlister grinned wryly: finally,
one of the enemy's strongest bases
had been completely neutralized.
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1-06 Calculate the concentration or volume of an acid or base from the concentration and volume of acid or base required
for neutralization.



Solving Neutralization Problems

We can solve for concentration or volume of one reactant in a neutralization reaction if we know the
concentration and volume of the other reactant.

We will use stoichiometry, just like in grade 11...

Steps:
1. Write the BALANCED chemical equation.

2. Convert to MOLES.

i.e. Use the concentration and volume of the known acid/base to find the number of moles.
3. Use STOICHIOMETRY (MOLE ratios)to find the MOLES of the UNKNOWN acid or base.
4. CONVERT the answer in step 3 to the units asked for in the question.



Example Neutralization Problems e

1. Inthe reaction of 35.0mL of drain cleaner (NaOH), 50.08mL of 0.409M HCI must be added
to neutralize the base. What is the concentration of the base?
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Example Neutralization Problems —

2. Calculate the volume of 0.256mol/L Ba(OH), that must be added to neutralize 46mL of
0.407mol/L HCIO,. -
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Neutralization Problems =

Try these ones... H&g}%
1. How many milliliters of 0.1M sulfuric acid are required to neutralize 10.0g of sodium
hydroxide?
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Neutralization Problems -

Try these ones...

2. Calculate the molarity of a 47mL solution of magnesium hydroxide if it takes 56.2 mL of

0.25M phosphoric acid to neutralize.
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